
1. Find the odd one out (1)

a.  Conception b. Feeling

c. Judgement d. Reasoning

2. In a certain code PAPER is written

QCSIW. How is MOTHER written in

that code? (1)

a. QNWLJX b. NQWLJX

c. NWLJQX d. NQXLJW

1 Iq´-Øn¬s∏-Sm-Ø-Xns\ Is≠ØpI.

F.  I¨k]vj≥   _n  ^oenwKv

kn.  PUvPvsa‚ v     Un.  dok-Wnßv

2. Hcp \n›nX tIUn¬ PAPER F∂Xv

QCSIW F∂v Fgp-Xn-bn-cn-°p-∂p. F¶n¬

MOTHER F∂-Xn\v F¥v tImUv

\¬Imw.

a. QNWLJX b. NQWLJX

c. NWLJQX d. NQXLJW
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s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdsa 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-cp-ambn Bibw hn\n-abw \S-Ømt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXsc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-
cn¬ \n∂v Xs∂ sXsc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

• Bh-iy-ap≈ ÿeØv ka-hm-Iy-ßƒ sImSp-°Ww

• t{]m{Km-ap-Iƒ sNøm-\m-ImØ Im¬°p-te-‰-dp-Iƒ am{Xta ]co-£m-lm-fn¬ D]-tbm-Kn-°m≥ ]mSp≈p.
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3. If 'Paragraph' is related to 'sentence' then

'sentence' is related to...................

a. Paragraph b. Type

c. Word d. Letter (1)

4. The following are two simple

propositions. Create an Alternative

proposition out of it. (1)

a) Black berry is a mobile phone

b) Black berry is a fruit

5. Check if the following inferred

proposition is  True or False. (1)

 Given Proposition Inferred Proposition

  All minerals are Some resources are

  resources minerals.

6. 'Hamsavum Damayanthiyum' is the

painting by Raja Ravivarma.  In the

Aristotelian view of cause' the painting

'Hamsavum Damayanthiyam' is

.................. (1)

a) Formal cause b) Material cause

c) Efficient Cause d) Final cause.

7. Read the following table  and answer A

and B.

3. Paragraph F∂Xv Sentence BsW-¶n¬

'sentence' F∂Xv ......... BIp-∂p.

a. Paragraph b. Type

 c. Word d. Letter

4. NphsS sImSp-Øn-cn-°p-∂Xv c≠v knºnƒ

t{]mt]m-kn-j-\p-I-fm-Wv. Ah-bn¬ \n∂pw

Hcp B¬´¿t\-‰ohv t{]mt∏m-kn-j≥ cq]o-

I-cn-°p-I.

a) Black berry is a mobile phone

b) Black berry is a fruit

5. NphsS sImSp-Øn-cn-°p∂ A\p--am\w

True BtWm False BtWm F∂v ]cn-

tim-[n-°pI.

X∂n-cn-°p∂ \nK-a\w

t{]ms∏mkoj≥

  All minerals are Some resources are

  resources minerals

6. "lwkhpw Za-b-¥nbpw 'cmPm-c-hn-h¿Ω hc®

Nn{X-amWv. Acn-tÃm-́ n-ens‚ Imc-W-sØ-°p-

dn-®p≈ XXz-{]-Imcw "lwkhpw Za-b-¥nbpw'

F∂ Nn{Xw ......... BIp-∂p.

F. t^m¿a¬ tImkv

_n. sa‰o-cn-b¬ tImkv

kn. F^n-jy‚ v tImkv

Un. ss^\¬ tImkv.

7. apI-fn¬ sImSp-Øn-cn-°p∂ ]´nI hmbn®v

F. _n. F∂ tNmZy-ß-fpsS DØcw

Is≠-ØpI

Proposition Sympolic
expression

a. If election is declared the government cannot exact new bills p ⊃ q
b. Sachin Tendulker is a cricketer and he is a parliamentarian p ~ q
c. A satellite is either natural or artificial p ν q
d. You  get admission if an only if you pass board examination p ≡ q
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A. Find the incorrect symbolic form from

the above table. (1)

B. Write the correct symbolic form

(1)

8.   The term 'Research' comes from a French

word 'RESEARCHE'. What does it

mean?

(1)

9. Find out the one which is not a primary

data for research. (1)

a. Report about census in a news

paper

b. Questionnaire for an interview

c. Survey in a field visit

d. Diaries.

10. Read the following sentence and answer

A and B.

 "All that glitters is not gold".

A, Reduce the above sentence into

logical form (1)

B. Detect the terms that are distributed

in the reduced proposition (2)

11. The following is an observation of a

student during a seminar. Read it and

answer A and B.

"Price rate of commodities increases

when price of fuel increases; and

decreases when it decreases"

A. Suggest the Mill's method

supporting the above observation

 (1)

B. Briefly explain the method you

suggested (2)

F. ]´n-I-bnse sX‰mb symbolic form I≠v

]nSn-°pI

_n. icn-bmb symbolic form Fgp-XpI

8. 'RECHERCHE', F∂ {^©v hm°n¬

RESEARCH \n∂mWv F∂ hm°v cq]-s∏-

´n-cn-°p-∂-Xv. AXns‚ A¿∞-sa¥v?

9. NphsS sImSp-Øn-cn-°p-∂-h-bn¬ \n∂pw Hcp

dnk¿®n\v D]-tbm-Kn-°p∂ ss{]adn Um‰m

A√m-ØXv I≠v ]nSn-°p-I.

F. sk≥k-kn-s\-°p-dn-®p≈ ]{Xhm¿Ø

_n A`n-ap-J-Øn-\m-h-iy-amb tNmZym-hen

kn. k¿t∆

Un Ubdn

10. NphsS sImSp-Øn-cn-°p∂ hmIyw hmbn®v

F. _n, F∂n-h-bpsS DØcw Fgp-Xp-I.

''All that glitters is not gold".

F. Cu hmIysØ Logical form ¬  Fgp-

Xp-I.

_n. Logical Form ¬ e`n-°p∂

proposition s‚ Distribute sNbvX

Terms Is≠-Øp-I.

11. Hcp skan-\m¿ thf-bn¬ Hcp hnZym¿∞n

\S-Ønb \oco£WamWv NphsS X∂n-cn-

°p-∂Xv. AXv hmbn®v F. _n. tNmZy-

ßƒ°v DØ-c-sa-gp-Xp-I.

""C‘-\-hne Db-cp-tºmƒ km[-\-hn-ebpw

Db-cp-∂p, AXp Ipd-bp-tºmƒ IpdbpIbpw

sNøp∂p''

F. Cu \nco-£-W-Øn\v tbmPn® Mill's

Method \n¿t±-in-°p-I.

_n. \nßƒ \n¿t±-in®  method  s\

°pdn®v Npcp°n hnh-cn-°pI
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12. Look at the following image and answer

A and B.

12. NphsS sImSp-Øn-cn-°p∂ Nn{Xw \nco-£n®

F, _n. F∂o tNmZy-ß-fpsS DØcw Fgp-

Xp-I.

A. Form a hypothesis for the

catastrophy in the image (1)

B. How will you refute, if one says

that 'it is due to the curse of gods?

(2)

13. Read the following syllogism and

answer A and B.

'If the rainfall is adequate, then the

harvest will be good.

The Harvest is good

∴ The rainfall is adequate.

A. Detect the fallacy in the above

syllogism (1)

B. Avoid the fallacy and make it a

sound argument. (2)

14. Differentiate logical constants and

variable (3)

15. List out the rules of conversion (3)

16. During a debate a student argued that

'experiment is more accurate than

observation 'Do you agree? (3)

F. Nn{X-Øn¬ ImWp∂ Zpc-¥-Øn\v Hcp

sslt∏m-Øo-kokv Is≠-ØpI

_n. 'ssZh-ß-fpsS im]-amWv CXn\v ImcWw

F∂v Hcm¬ ]d-™m¬ AXn\v \nßƒ

Fßs\ AXns\ \ncm-I-cn-°pw.

13. X∂n-cn-°p∂ kntem-Pnkw sNøn®v F._n

F∂o tNmZy-ßƒ°v DØ-c-sa-gp-Xp-I.

If the rainfall is adequate, then the

harvest will be good.

The harvest is good

∴  The rainfall is adequate.

A. apI-fn¬ sImSp-Øn-cn-°p∂ kntem-Pn-k-

Øns‚ fallacy Is≠Øq.

B. fallacy Hgn-hm°n AXns\ Hcp icn-bmb

kntem-Pn-k-am°n am‰n Fgp-Xp-I.

14. temPn-°¬ tIm¨Ã‚n-s\bpw thcn-b-_n-

fnt\bpw Xmc-X-ay-s∏-Sp-Øp-I.

15. I¨th¿js‚ \nb-a-ßƒ enÃv sNøp-I.

16. "\nco-j-W-tØ-°mƒ ]co-£-W-Øn-\mWv

IqSp-X¬ IrXyX F∂v kwhm-Z-Øn-\nsS Hcp

hnZym¿∞n hmZn-®p. \nßƒ AXn-t\mSv

tbmPn-°p-∂pt≠m? \nß-fpsS A`n-{]m-

bsØ \ymbo-I-cn-°pI
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17. If p is True and q is False check the

Truth value of (p ν q) ν q using Truth Table.
(3)

18. If proposition 'All cell phones are

wireless devices' is stated as 1 to 5

propositions, what are the answers of

A and B?

1. Some wireless devises are cell

phones

2. Some cell phones are wireless

devices

3. All non wireless devices are non  cell

phones.

4. No wireless devices are non cell

phones

5. Some cell phones are not wireless

devices.

A. choose the best response (1)

a. 1, 2 and 4 are True

b. 1, 3 and 4 all True

c. 3, 4 and 5 are True

d. 1, 3 and 5 are True.

B. Prove the validity of your

response . (4)

19. Explain the Rules and Fallacies

related to  the structure of syllogism.

(4)

20. Compare direct observation and

indirect observation. (4)

21. Why does J.S. Mill insist that cause

should be invariable and

unconditional antecedent? (4)

22. 'Logic is used  in every walk of life.'

Do you agree? Substantiate (5)

17. p True q  Dw False Dw Bbm¬ (p ν q) ν q

F∂-Xns‚ Truth value Hcp Truth table s‚

klm-b-tØmsS Is≠-Øp-I.

18. 'All cell phones are wirless devices

F∂  t{]mt∏m-kn-js\ 1 apX¬ 5 hsc-

bp≈ t{]mt]mknj-\p-I-fn¬ Fgp-Xn-bm¬

F._n F∂n-h-bpsS DØcw F¥m-bn-cn-°pw.

1. Some wireless devices are cell

phones

2. Some cell phones are wireless
device

3. All non wireless devises are non
cell phones.

4. No wireless devices are non all
phones

5. Some cell phones are not wireless

devices.

F. icn-bm-bXv sXc-s™-Sp-°p-I.

a. 1, 2 4,  F∂nh  True BWv.

b. 1, 3, 4  F∂nh  True BWv.

c. 3, 4, 5  F∂nh  True BWv.

d. 1, 3, 5 F∂nh  True BWv.

B. \nß-fpsS DØcw sXfn-bn-°p-I.

19. kne-Pn-k-Øns‚ dqƒkpw ̂ me-knkpw hni-

Zo-I-cn-°p-I.

20. Ub-dIvSv H_vk¿th-js\bpw C≥U-b-dIvSv

H_vk¿th-j-s\bpw Xmc-X-ay-s∏-Sp-Øp-I.

21. ' cause' -  invariable Dw Unconditional  Dw

Bb antecedent BI-W-sa∂v sP.F-kv.-

an¬ \n¿h-Nn-°m≥ Imc-W-sa¥v?

22. Pohn-X-Øns‚ F√m taJ-e-I-fnepw temPnIv

D]-tbm-Kn-°p-∂p. \nßƒ Cu {]kvXm-h-\-

tbmSv tbmPn-°p-∂pt≠m? \ymbo-I-cn-°p-I.
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23. Explain categorial proposition in

terms of quality and quantity. (5)

24. Explain the source or origin of

hypothesis. (5)

25. Selection of the problem is the first

step of research. Explain the other

steps of research in order. (Answer

should not exceed 150 words) (6)

26. 'Explain the sources of Knowledge' in

not more than 200 words. (8)

(Hints: The Method of Tenacity- The

Method of Authority.  The Method of

Intuition - The Method of Science )

OR

Write an essay on the kinds of

induction in not more than 200 words.

(Hints:  Induction - unscientific

induction - scientific induction -

Analogy)

23. Quality, Quantity F∂n-h-bpsS ASn-ÿm-

\-Øn¬  Categorical Proposition s\ hni-

Zo-I-cn-°p-I.

24. sslt]m-Xo-kns‚ Dd-hn-S-ß-sf-°p-dn®v hni-

Zo-I-cn-°p-I.

25. Selection of the problem F∂-XmWv Hcp

dnk¿®ns‚ BZy-L´w. dnk¿®ns‚ a‰v L´-

ßsf {Ia-ambn hni-Zo-I-cn-°p-I. (DØcw 150

hm°p-Iƒ Ihn-b-cp-Xv)

26. Adn-hns‚ Dd-hn-S-ß-sf-°p-dn®v 200 hm°p-I-

fn¬ Ihn-bmsX hni-Zo-I-cn-°p-I.

(Hints: The Method of Tenacity- The

Method of Authority.  The Method of

Intuition - The Method of Science )

As√-¶n¬

hnhn-[-Xcw C≥U-£-\pIsf-°p-dn®v Hcp

teJ\w Xbm-dm-°p-I.

(Hints:  Induction - unscientific

induction - scientific induction -

Analogy)
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1 b Feeling 1 1

2 b NQWLJX 1 1

3 C. WORD 1 1

4 Black berry is either a mobile phone or a fruit 1 1

5 TRUE 1 1

6 d. Final cause 1 1

7 A. b 1

B. p.q 1 2

8 To go about seeking 1 1

9 a. Report about census in a newspaper. 1 1

10 A. Some things that glitter are not gold. 1 3

B. Predicate term 'Gold is distributed. 2

11 A. The method of concomitant variation. 1

B. Causal connection between two conditions. 2 3

They match in variation.

12 A. Landslide is the cause of the phenomenon 1

B. - It is a barren hypothesis

- It is neither true nor false 1 3

- It is irrational explanation 1

- It cannot be verified

13 A. Fallacy of Affirming the Consequent 1

B. If the rainfall is adequate, then the harvest is good

The rainfall is adequate

∴   The harvest is good 2 3

14 Logical constant - Symbols whose meaning is constant 1

                 -  example ½ 3

Logical variables-  Symbols whose meaning varies 1

                 -  example ½

15 Rule -  1 1

Rule -  2 1 3

Rule -  3 1

16 If agrees - Any three advantages of experiment 1

1 3

... 1

If disagrees - Any three reasonable responses

17 - TRUE 1

- Truth Table 2 3

 Qn. Sub Value points/Answer Key Score Total

 

any two
 

Answer Key
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18 A A. d 1

B. Prooving validity 4 5

19 Rule  -  1 1

Rule  -  2 1 4

Fallacies - Any two 1

... 1

20 Any four points comparing direct and indirect observation 1

1

1 4

1

21 Substantiating invariability 2

Substantiating unconditionality 2 4

22 Any five utilities of logic 1

.. 1

... 1 5

... 1

.. 1

23 - Categorical propositions - AE 10 1

- Quality of propositions 1

- Quantity of proposition 1

- Quality and Quantity of  A ½ 5

- Quality and Quantity of E ½

- Quality and Quantity of  I ½

- Quality and Quantity of  O ½

24 - Meaning of hypothesis 1

- Any four sources

• Analogy 1

• Creative Imagination 1 5

• Wide Knowledge 1

• Insight 1

• Simple Enumeration

25 Steps of research 2 -7 Step 2 1

Step 3 1

Step 4 1

Step 5 1 6

Step 6 1

Step 7 1

26 - The method of Tenacity 2

- The method of Authority 2

- The method of Intuition 2 8

- The method of Science 2

OR OR

- Induction 2

- Unscientific Induction 2

- Scientific Induction 2

- Analogy 2

 Qn. Sub Value points/Answer Key Score Total

No. Qn.

Answer Key



1. The literal meaning of the word

philosophy  is......................... (1)

a. Love of wisdom

b.  Love of knowledge

c. Seeking wisdom

d. Love of values

2. In the opposition of proposition if 'O'

proposition is True then 'A' proposition

is ................................. (1)

a.  True b. False

c. Doubtful d. Neither true nor false

1 ^ntem-k^n F∂ ]Z-Øns‚ hm®ym¿∞w

......................... BIp-∂p.

a. Love of wisdom

b.  Love of knowledge

c. Seeking wisdom

d. Love of values

2. Opposition of proposition ¬  'O'

proposition icn -bm -sW-¶n¬  'A'

Proposition .................. Bbn-cn-°pw.

a. True b.  False

c. Doubtful d.Neither true nor false

F.Y.

March 2015

Reg. No: ...........................

Name : ...........................HIGHER SECONDARY EDUCATION
Part - III

PHILOSOPHY
Sample Question Paper - 2

Maximum : 80 Scores
Time: 2 ½ hrs

Cool off time : 15 Minutes
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• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2 hrs.
• You are neither allowed to write your answers nor to discuss anything with others during the 'cool off time'.
• Use the 'cool off time' to get familiar with questions and to plan your answers.
• Read the questions carefully before answering
• All questions are compulsory and only internal choice is allowed.
• When you select a question, all the sub-questions must be answered from the same question itself.
• Calculations, figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the questions is also provided.
• Give equations wherever necessary
• Only Non-programmable calculators are allowed in the Examination Hall.

s]mXp-\n¿t±-i-ßƒ

• \n¿±njvS ka-b-Øn\v ]pdsa 15 an\n´v "Iqƒ Hm^v ssSw' D≠m-bn-cn-°pw. Cu ka-bØv tNmZy-ßƒ°v
DØcw Fgp-Xmt\m, a‰p-≈-cp-ambn Bibw hn\n-abw \S-Ømt\m ]mSn-√.

• DØ-c-ßƒ Fgp-Xp-∂-Xn\v apºv tNmZy-ßƒ {i≤m-]q¿∆w hmbn-°-Ww.

• F√m tNmZy-ßƒ°pw DØcw Fgp-X-Ww.

• Hcp tNmZy-\-º¿ DØ-c-sa-gp-Xm≥ sXsc-s™-SpØv Ign-™m¬ D]-tNm-Zy-ßfpw AtX tNmZy-\-º-
cn¬ \n∂v Xs∂ sXsc-s™-Sp-t°-≠-Xm-Wv.

• IW°v Iq´-ep-Iƒ, Nn{X-ßƒ, {Km^p-Iƒ, F∂nh DØ-c-t]-∏-dn¬Øs∂ D≠m-bn-cn-°-Ww.

• tNmZy-ßƒ ae-bm-f-Ønepw \¬In-bn-´p-≠v.

• Bh-iy-ap≈ ÿeØv ka-hm-Iy-ßƒ sImSp-°Ww

• t{]m{Km-ap-Iƒ sNøm-\m-ImØ Im¬°p-te-‰-dp-Iƒ am{Xta ]co-£m-lm-fn¬ D]-tbm-Kn-°m≥ ]mSp≈p.
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3. Identify the true conclusion for the

following premises (1)

All mangoes are golden in colour.

No golden colour things are cheap.

∴ .................................................................

a. All mangoes are cheap

b. No  cheap things are mangoes

c. Some mangoes are cheap

d. Some golden coloured objects are

cheap

4. Read the following syllogism and

answer A and B.

All clean premises are beautiful places.

My School is a clean premise.

∴ My School is a beautiful place.

A. Say whether the above syllogism is

valid or invalid. (1)

B. Find middle term of the above

syllogism. (1)

5. Represent the following proposition in

symbolic form. (1)

Students are either hostelers or day -

scholars.

6. Read  the given sentence and its

propositional forms  I & II. (1)

Sentence :  Indians are mostly farmers.

Propositional Form:

I. All Indians are farmers

II. Some Indians are farmers.

Choose :

a. If proposition I follows

b. If proposition II follows

c. If neither propositions follow

d. If both the propositions follow

3. NphsS sImSp-Øn-cn-°p∂ {]ankp-I-ƒ°v

icnbm I¨¢q-j≥ sXc-s™-Sp-sØ-gp-XpI.

All mangos are golden in colour.

No golden colour things are cheap.

∴ .................................................................

a. All mangoes are cheap

b. No  cheap things are mangoes

c. Some mangoes are cheap

d. Some golden coloured objects are

cheap

4. NphsS sImSp -Øn-cn -°p∂ syllogism

hmbn®v F, _n tNmZy-ßƒ°v DØcw Fgp-

XpI.

All clean premises are beautiful places.

My School is a clean premise.

∴ My School is a beautiful place

F. ta¬ ]d™ syllogism valid BtWm

invalid BtWm F∂v ]d-bpI

_n. ta¬ ]d™ syllogism Øns‚

Middle term I≠p ]nSn-°pI.

5. NphsS sImSp-Øn-cn-°p∂ proposition s\

symbolic t^man-te°v am‰n Fgp-Xp-I.

Students are either hostelers or day -

scholars.

6. NphsS sImSp-Øn-cn-°p∂ sentence Dw

propositional forms  I & II hmbn®v tbmPn-

®Xv Xnc-s™-Sp-°p-I.

Sentence :  Indians are mostly farmers.

Propositional Form:

I. All Indians are farmers

II. Some Indians are farmers.

Choose :

a. If proposition I follows

b. If proposition II follows

c. If neither propositions follow

d. If both the propositions follow
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7. Which of the following is not a method

of data collection?

a. Questionnaire b. Interview

c. Observation c. Hypothesis (1)

8.. Compare formal truth and material

truth (2)

9. Explain the components of a

hypothetical proposition (2)

10 Prepare a flowchart on modern

classification of proposition using the

following data.

1) Relational Proposition 2)  Class

membership proposition  3) Alternative

proposition   4)  Implicative proposition

5)  Subject predicate proposition

6) Conjunctive proposition 7) General

proposition  8) Disjunctive proposition

9) Simple proposition 10) Compound

proposition (2)

11. How do we can make an observation

objective? (2)

12. The following is the diagramatic

representation of one of the four

categorical proposition.

A. Write the proposition of the above

diagram. (1)

B. Construct other three diagrams and

corresponding propositions based on

the above diagram. (3)

7. NphsS tN¿Ø-Xn¬ hnhc tiJ-cW coXn-

bn¬s∏Sm-ØXv GsX∂v Is≠-ØpI?

a. Questionnaire b. Interview

c. Observation c. Hypothesis

8. Formal truth s\bpw Material truth

s\bpw Xmc-Xayw sNøpI

9. Hypothetical proposition s‚  LS-I-ßƒ

hni-Z-am-°p-I.

10. NphsS sImSp-Øn-cn-°p∂ Um‰m-Iƒ D]-tbm-

Kn® v modern classification of

proposition s‚ ̂ vtfmNm¿´v Xbm-dm-°p-I.

1) Relational Proposition 2)  Class

membership proposition  3) Alternative

proposition   4)  Implicative proposition

5)  Subject predicate proposition

6) Conjunctive proposition 7) General

proposition  8) Disjunctive proposition

9) Simple proposition 10) Compound

proposition

11. Hcp observation  Fßs\ objective

B°mw F∂v hni-Z-am-°pI

12. NphsS sImSp -Øn -cn -°p∂ Ub{Kw

categorical proposition s\ {]Xn-\n-[o-I-

cn-°p-∂p.

F. ta¬ Ub{Kw  {]Xn-\o-[o-I-cn-°p-∂ t{]mt∏m-

kn-j≥ Fgp-Xp-I.

_n. ta¬ hc® Ub-{KsØ ASn-ÿm-\-am°n a‰v

aq∂v Im‰-K-dn-°¬ s{]mt∏m-kn-j\pIsf

{]Xn--\n-[o-I-cn°p∂ Ub{Kw hc-°p-I.

Men
hockey

players
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13. J.S.Mill defines cause as 'the invariable

and unconditional or necessary

anticident'. Explain this definition

briefly. (3)

14. The following are the stages of research

a. Data Collection

b. Defining the objectives of the study

c. Selection of problems

d. Findings and suggestions

A. Which among the above is the first

stage of research? (1)

B. Prepare a brief note on the first

stage of research. (3)

15. Match coloum  A, B and C suitably.

(1 x 4 = 4)

16. Compare method of Tenacity and the

Scientific Method. (4)

17. Briefly explain the qualities of a good

research. (4)

18. The following are examples of fallacies

of observation.

a. Mirage

b. Partial Moon

13. 'The invariable and unconditional or

necessary anticident', F∂mWv

sP.F-kv. an¬ cause s\ \n¿∆-Nn-®n-cn-°p-

∂-Xv. an√ns‚ Cu \n¿∆-N\w Npcp°n hni-

Z-am-°p-I.

14. Hcp dnk¿®ns‚ hyXykvX L -́ßƒ NphsS

sImSp-°p-∂p.

a. Data Collection

b. Defining the objectives of the study

c. Selection of problems

d. Findings and suggestions

A. ta¬ ]d-™-Xn¬ GXmWv dnk¿®ns‚

{]Y-a-L-́ w.

B. dnk¿®ns‚ {]Y-a-L-́ -sØ- kw_-‘n®v

Hcp Ipdn∏v Xbm-dm-°p-I.

15. F._n.kn F∂o tImf-ßsf DNn-Xambn

tbmPn-∏n-°p-I.

16. Method of Tenacity bpw Scientific

Method Dw Xmc-Xayw sNøp-I.

17. Hcp \√ dnk¿®n\v D≠m-bn-cn-t°≠ KpW-

ßƒ hni-Z-am-°p-I.

18. NphsS tN¿Øn-cn-°p-∂Xv ̂ me-knkv Hm^v

H_vk¿th-j\v DZm-l-c-W-ß-fm-Ip-∂p.

a. Mirage

b. Partial Moon

A B C

i) Method  of Tenacity Knowledge from Science Earth is Flat

ii) Method of Authority Habitual belief Generally water boil at 1000C

iii) Method of Intution Advice from a trust Number 13 is unlucky
worthy person

iv) Method of Science Knowledge from immediate Drive carefully to avoid-
understanding accident
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c. The statement that 'No Indians are

punctual'

d. Blue colour of sky

A. Which among the above is a mal-

observation? (1)

B. Differentiate types of mal-observation

(4)

19. Critically evaluate advantages and

limitations of the Method of Agreement.

(4)

20. Do you think logic is a science?

Substantiate (5)

21. Distinguish between simple

constructive and simple distructive

dilemmas using examples. (5)

22. Study the following proposition.

p v (q.r )

A. Identify the logical constant (1)

B. If p and q are true and 'r' false, find

the truth value using truth table.

(5)

23. Write an essay not exceeding 200 words,

on 'the role of hypothesis in scientific
induction'.

(8)

(Hint : Meaning of hypothesis, source
of hypothesis, hypothesis as steps of
induction)

OR

Write an essay not exceeding 200 words
on 'The characteristics of a good

hypothesis'

c. The statement that 'No Indians are

punctual.'

d. Blue colour of sky

A. ta¬ ]d-™-Xn¬ am¬ H_vk¿th-j≥

GXm-Ip-∂p.

B. hyXykvX am¬ H_vk¿th-j-\p-Iƒ Xcw

Xncn®v hni-Z-am-°p-I.

19. Method of Agreement s‚ KpW-ßfpw ]cn-

an-Xn-Ifpw hna¿i-\m-fl-I-ambn hne-bn-cp-

ØpI.

20. temPnIv Hcp kb≥kmsW∂v \nßƒ Icp-

Xp-∂pt≠m? hni-Z-am-°pI.

21. Simple constructive dilemma bpw

simple distructive dilemma  bpw DZm-l-

-c-W-ßƒ FgpXn hyXymkw hni-Z-am-°pI?

22. NphsS sImSp-Øn-cn-°p∂ s{]mt∏m-kn-j≥

hmbn-°pI.

p v (q.r )

A. ta¬ s{]mt∏m-kn-j\n¬ logical constant

GXm-sW∂v Fgp-Xp-I.

B. p, q icnbpw r sX‰pw BsW-¶n¬ {SqØv

tS_n-fns‚ klm-b-tØmsS ta¬ s{]mt∏m-

kn-js‚  truth value ImWpI.

23.  Hypothesis \v scientific induction ¬

D≈ ]¶v 200 hm°n¬ Ihn-bmsX D]-\y-kn-

°p-I.

(Hint: Meaning of hypothesis, source of

hypothesis, hypothesis as steps of

induction)

As√-¶n¬

Hcp \√ sslt∏m-Øn-�ns‚ khn-ti-j-X-

Iƒ 200 hm°n¬ Ihn-bmsX D]-\y-kn-°pI.
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(Hint :  Meaning of hypothesis - match

with established laws - relevance - self

consistancy - capable of deductive

development - testability - not absurd -

varifiability  - simplicity)

24. Consider the proposition 'All natural

calamities are miseries' as TRUE. Make

a square of opposition using the above

proposition and find the Truth value of

each opposition. (8)

OR

Find out eductions of the given

proposition.

 'All natural calamities are miseries'.

(Hint :  Eduction - conversion -

obversion  -  obverted converse -  partial

and full contrapositive - partial and full

inverse )

(Hint :  Meaning of hypothesis - match

with established laws - relevance - self

consistancy - capable of deductive

development - testability - not absurd -

varifiability  - simplicity)

24. 'All natural calamities are miseries' F∂

s{]mt∏m-kn-j≥  TRUE BsW∂v IW-°m-

°pI.

ta¬ s{]mt∏m-kn-j≥ D]-tbm-Kn®v square

of opposition D≠m-°p-Ibpw F√m Hm∏-

kn-j-s‚bpw Truth value Is≠-Øp-Ibpw

sNøp-I.

As√-¶n¬

NphsS sImSp-Øn-cn-°p∂ s{]mt∏m-kn-js‚

Eduction \pIƒ Is≠-Øp-I.

'All natural calamities are miseries

(Hint :  Eduction - conversion -

obversion  -  obverted converse -  partial

and full contrapositive - partial and full

inverse )


